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Across
3. Cow born co-twin with bull

7. Sex that has two different 

sex chromosomes

11. This syndrome causes a 

retention of the mullerian ducts

13. Organism that has both 

testes and ovaries and can make 

sperm and oocytes

15. This type of fish is an 

example of an animal that uses 

social/behavorial sex 

determination

16. Most reptiles use this type 

of sex determination

17. A homologous structure of 

the testes in females would be the

Down
1. In females the sex cords 

will ULTIMATELY become

2. Gonad that contains both 

ovarian and testicular tissue

4. In males the sex cords 

become the

5. Sex that has two of the 

same sex chromosomes

6. This syndrome results in 

small testes, low testosterone, and 

breast enlargement

8. This syndrome results in 

under-developed ovaries, 

amenorrhea, and short-stature

9. This hormone is responsible 

for the development of the ovary 

in most birds and reptiles

10. This hormone is needed for 

the devlopment of the Wolffian 

ducts

12. This hormone inhibits the 

development of the mullerian 

ducts

14. When the opening of the 

urethra is on the underside of the 

penis this is known as


